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Aufgaben-Quickname: 4814

Aufgabe 1

Setze die richtige Zahl ein.
a) 771 — 40 = 731
d) 776 — 50 = 726
g) 572 — 20 = 552
j) 890 — 50 = 840
Aufgabe 2

Setze die richtige Zahl ein.

a) 8508 — 100 = 8408
d) 2894 — 700 = 2194
g) 2663 — 400 = 2263
j) 4869 — 800 = 4069

Aufgabe 3
Setze die richtige Zahl ein.

a) 2213 — 2 = 2211
d) 7173 — 3 = 7170
g) 4078 — 3 = 4075
i) 7807 — 4 = 7803

Aufgabe 4

Setze die richtige Zahl ein.

a) 7488 — 80 = 7408 b) 6894 —
d) 3355 — 40 = 3315 e) 6486 —
g) 7179 — 60 = 7119 h) 3376 —

i) 8942 — 30 = 8912
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b) 583 — 80 = 503
e) 862 — 40 = 822
h) 481 — 30 = 451

b) 7708 — 600 = 7108
e) 6862 — 500 = 6362 f)
L) 5887 — 100 = 5787 i)

b) 7957 — 6 = 7951
e) 4558 — 2 = 4556
h) 7255 — 4 = 7251

60 = 6834
60 = 6426
20 = 3356
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¢) 558 — 40 = 518
£) 499 — 80 = 419
i) 462 — 10 = 452

c) 7835 — 600 = 7235
5845 — 700 = 5145
1448 — 200 = 1248

¢) 8336 — 4 = 8332
£) 9239 — 8 = 9231
i) 3368 — 6 = 3362

c) 4553 — 10 = 4543
f) 1760 — 50 = 1710
i) 4490 — 70 = 4420
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